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Fiber 1842, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 1523, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.5 1.0 0.50.0 0.5

Fiber 2931, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.00.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.00.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 3065, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.040.06

Fiber 4345, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.81.01.21.41.61.82.02.2

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.81.01.21.41.61.82.02.2

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.080.060.040.020.000.020.04

Fiber 2714, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.501.752.002.252.502.753.003.253.50

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.040.06

Fiber 4658, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.5 1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.00.20.40.6

Fiber 1149, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.10.0 0.1 0.2

Fiber 1259, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.00.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.000.050.100.150.200.250.30

Fiber 2939, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2

Fiber 1893, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.0 0.5 1.0 1.5 2.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.0 0.5 1.0 1.5 2.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.040.020.000.020.04

Fiber 2509, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.5

Fiber 2302, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 2912, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.20.4

Fiber 1013, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.752.002.252.502.753.003.253.503.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

8 7 6 5 4 3 2 10

Fiber 1375, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1000.0750.0500.0250.0000.0250.050

Fiber 1006, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.21.41.61.82.02.22.42.6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.040.020.000.020.040.060.08

Fiber 1947, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.31.41.51.61.71.81.92.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.31.41.51.61.71.81.9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1250.1000.0750.0500.0250.0000.0250.050

Fiber 4448, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.050.000.050.100.15

Fiber 3050, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.02

Fiber 404, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.41.51.61.71.81.92.02.1

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.51.61.71.81.92.02.1

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.080.060.040.020.000.02

Fiber 3744, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.61.41.21.00.80.60.40.20.0

Fiber 4233, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.80.60.40.20.00.20.4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.80.60.40.20.00.20.4

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1000.0750.0500.0250.0000.0250.0500.0750.100

Fiber 2284, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.61.82.02.22.42.62.83.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.15

Fiber 2404, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.040.06

Fiber 1044, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.20.40.60.81.01.2

Fiber 2304, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.0 0.5 1.0 1.5 2.0 2.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.0 0.5 1.0 1.5 2.0 2.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1250.1000.0750.0500.0250.0000.0250.0500.075

Fiber 3363, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.22.42.62.83.03.23.4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.22.42.62.83.03.23.43.6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1500.1250.1000.0750.0500.0250.0000.025

Fiber 3444, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 160, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.000.020.040.060.08

Fiber 4676, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 4459, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0 0.2 0.4 0.6 0.8

Fiber 2636, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

5 4 3 2 1 0

Fiber 4640, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.002.252.502.753.003.253.503.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

4 6 8 10 12 14

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

12 10 8 6 4 2 0

Fiber 4204, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.500.751.001.251.501.752.002.25

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.500.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.05

Fiber 3224, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.100.150.20

Fiber 3126, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.04

Fiber 4010, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.31.41.51.61.71.81.92.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.51.61.71.81.92.02.1

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.10

Fiber 2432, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.04

Fiber 1832, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.15

Fiber 3841, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0500.0250.0000.0250.0500.0750.1000.125

Fiber 2124, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.040.06

Fiber 627, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.10.00.10.20.30.40.50.6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.20.10.00.10.20.30.40.50.6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.040.020.000.020.040.06

Fiber 2995, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.150.20

Fiber 3540, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.001.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.05

Fiber 1254, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 3300, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.753.003.25

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1000.0750.0500.0250.0000.0250.050

Fiber 4297, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 3324, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 1788, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5
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Fiber 159, dchi2frac= 1.0
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Fiber 658, dchi2frac= 1.0
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